
Usar Método
Eletronico
-50.000

Não prepara
proposta

-0

Prepara
proposta
-50.000

Ganha
contrato
+250.000

Não ganha
contrato
+0

0,5

0,5

Usar Método
Mecânico
-120.000 +80.000

-50.000

Bem
Sucedido

0,5

+150.000

Mal Sucedido
0,5 +30.000Usar método mecânico

-120.000

Usar Método
Magnético
-80.000

Bem Sucedido
0,7

+120.000

Mal Sucedido
0,3

0Usar método mecânico
-120.000



Instala
Área
Norte

Instala
Área
Sul

Sobrecarga
Área Norte

0,5

0,5Sobrecarga
Área Sul

Desliga
SE 1 ou SE 2 0 (protegida)

Desliga
SE 3

70 50+15+5 (todas desligam)

Desliga
SE 1

0,4

5+15+50 (todas desligam)

Desliga
SE 2

0,6

0

Desliga
SE 1 ou SE 2 0 (protegida)

Desliga
SE 3 9+50+60 (todas desligam)

119

94,5

Sobrecarga
Área Norte

0,5

0,5Sobrecarga
Área Sul

Desliga
SE 1 ou SE 2

15+5+50 (todas desligam)

Desliga
SE 3

70 0 (protegida)

Desliga
SE 1 ou SE 2 50+60+9 (todas desligam)

Desliga
SE 3 0 (protegida)

119

94,5


